| Efficiency vs Dxy |
> 0.1
<

3 S T S
L | S R S
Z L
O e
k) L
K e S S S
© S S S S
Q.08 p
005
004
003
0.02F <
e o 1 o e e
:I”!””!””!””il*+!+! . . .

Qs BB

Ratio

T eI
R LA

-25-20-15-10 -5 0 5 10 15 20 25
TP dxy (cm)

—s=— DQM_CKF_TTbar
| Efficiency vs Dz | | —s— DQM_mkFit_TTbar

—+— DQM_mkFit_TTbar-newTr2
N 0.1 ; : . .

7Y SRR M I O S S S
3 : : : : :
e S
O N N N H H
$0.07 : [ AR AR
o : : : : :
e S s e
R N e
008 L

008k I
0.02f Al T

by
I

0.01 :
q EEE SRR SRR :....'...'..'..E..'..l..'..'..

Ratio

30 =2 | j 0 20 30
TP dz (cm)



	Contents
	Page 1


